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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)

Departmental Test in the Manual of

Name of the Firemanship for Officers of Tamil Nadu Fire

Test: and Rescue Services - First Paper 053
(Without Books)
Maximum Time: 2.30 Hour Maximum Marks: 100

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
CETETGM eums el6uTméGmer
Read the following instructions carefully before beginning to answer the
questions.
AéEsE&@ el Weléss QSTLRIEGL (6T SDEHSHEIL M6 nTE6m ord
HEUTTLOMSL LG &&6LD.
1. This computer based Test contains 100 number of questions in objective

Type.

Apas seNel eufls CoTeunarg), 100 QaTHGM eumSUNeLTET AN6ITEHSHEM6NTE

Q& TETITIL_8)|.

2. Answer all questions. Each question carries one mark
SIMESHG  MATTEEEREGL el weNdsa|d @aQeurm oNamad
ST 2 6L Ig).

3 In case of doubt, English version is the Final.
alemésened  FHCaHsd QMU e eaugeNld QesTEEHSHILL [Heren
NesTmdHaGen Qmy SILITen &),

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.
Qng eNemsseNed QLLb QubmeTer Suevur UTEdlers GeufletT eUTSem s &afed
CHemauliligedl,  HLIGCHHU QU  LTENTSSeuflesT UMM ems s EpLD
SILRIGLW.

>. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:

eNeeTLILGMTT&H6T Heoe eufly CaieNnH@ oML weNdbes QHTLR@ELD
Wwer  seNellullesr  Hempulled  Cametmd  SINMYDISHENET  SHEUTLOTEL]
Ly $&6LD.

a) One question will be displayed on the screen at a time.
@Gy Chrsdled sp(p aNeorm WL HGCWL seaMefls Henyued GCoHmesTmLD.



[ How many times mercury as dense as water?
gamateny el LMSI&D crHSaT DL ki@ L TsSlwrang ?
(A) 10 times (B) 14.7 times
10 wLrig 14.7 DL
((B 13.6 times (D) 16 times
)\ 13.6 wLiE 16 0Lk
2. Conversion formula C°to F0?

Sunyenall g ed(mhg GeddlwealhE LTHMID GBS Th 618 ?

(A) F:(Cx%)+32 v’ (B) F=(Cx%)+32

© F=[cx)-s2 D) F=[cx9)-s2
3. If External pressure is increased, what happens in the boiling point?
Qaualltim S(psshd SPafssred dardflamouid ghuBb IO erarer ?
(A) Decreased ~/\ (B) Increased
GEMU]Lb VAL T
(C) No changes (D) (A) and (B)
LOTDHTE) (A) womid (B)
4, Example for sublimation?

USBIGLOTSE GTATLSDH S 2 STTEwTLD CTEre ?

(A) Dry ICE (solid carbon dioxide) B) ICE

\/\ ey gmev (H ariuer el pdemaev(h) vefles i
(C) Sodium (D) Potassium
Camiguid QumrLréluib
5. What is the critical temperature of the Propane?

LyGuefler &fMiqased Qeuliiflene ereer?

@A) 152°C (B) 104°C

(C) 178C w” D) 96.7° C
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6. Molecular formula of Butane?
Gy GLafler epedamm eumiiunp ereme ?
(A) CsHs A B) CsH,,
(C) CHy (D) C2Hs
7. What is an element present in polyvinyl chloride?
uredellanered GGarmanyiqed 2 arer gefloib ereme ?
)/\ (A) Chlorine (B) Sulphur
&Cermiler FOUI
(C)  Fluorine (D) Iodine
LiGermflebr < Gwimig 6or
8. Which of the following is called as sewer gas?
&lcpasezfm_eug)@eb FTES®L UM 6TET HMP&&LILI(HEIG 6Tg)?
(A) Hydrogen sulphide (B) Nitros oxide
‘/\ a6 &6 (h MBLTEN H&Eenav(h
(C) Phosphorous sulphide (D) Carbon mono oxide
umevLIyen FeenL(h sriruer GurGarm g,samav(h
9. Which is used in the manufacture of self extinguish plastics?
Qeerrs eréavigiiuedi Germevigd surfés LweaTLOeug 6Tgl?
(A) Iodine compounds q,/‘ (B) Bromine compounds
S Cumgerr Camoib LCrmierr Gamoid
(C) Chlorine compounds (D) Sulphur compounds
&Germilerr Garriolb geoum Garod

10. Counter burning method in fire extinguishing is called as?
T & ppl L ThHe auems SwenarTliL (P erar SPssluBhEng ?

(A) Smothering ‘4 (B) Starvation
SHenrmig 56 Ul gafl Cur@ged

(C) Heating (D) Cooling
Qeutiutiu(O&gIS &efliTesl Qauged
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11.  What is rubber acid?
TUUT SUOD GTETLIG 66T ?

(A) Dilute Nitric Acid (B) Dilute Hydro chloric Acid
Biigs eplMe ileid Bi$s eanl Gym &Germilé bl
(C) Dilute Sulphuric Acid (D) Carbonic Acid
\/\ Biiss &bhss 2lewb sriureid <ulevid

12. What is Soft suction?
UL F&EVEN GTEITLIGI 6T6oTa ?
(A) Delivery hose used on the intake side of pump
/\ Bir 1@ @ymuiaaer Lbl QearGL s LGS WL LwaTLHSHSD
(B) Delivery hose used in the hydrant to fire fighting
B 6 @wruiaar eanl yerT g LwETUOSS Swamandsd
(C) Delivery hose used in the fire ground
B a6 @wriaer § Hlapei Hé LweTL OSSO
(D) Delivery hose used in the rescue
Bir a6 @wrlaaer By ueafléE LweaTu (g S0

13.  What is the cause of damage to the hose?
B a0 @l Casomeugh@ &yerd eree ?

(A) Abrassion (B) Mildew
Couiged Lp(Epe e

(C) Shock v\ D) (A), (B) and (C)
s ifag (A), (B) wppitd (C)

14. What is the internal dia of the hose reel hose?
Ganmev oo Canmeller Gmi&sena eTeualeTe, ?
(A)  25mm (B) 12.5mm
(C) 19mm (D) 9mm

v\
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15.  Which type of coupling is generally used on delivery hose in the fire department?
Sweari] wpm By uelser  geoplo Bl  @wnded  durgers
vweruGSsLL@b Genartiidl erg)?

(A) Bayonet \/\ (B) Instantaneous
LIGTTL @eren e GLeflwien

(C) Hermaphrodite (D) Surelock
QammwrCrrenLL_ QegTems

16. What is a strand?
auLl_Grerl. eTeTmmed GTEe ?
(A) Individual fibers
saflgsaiiumer HriseT
(B) Twisting the slivers
safgsaiurar falleuien Helevgm Qauigred SaLLiug
‘A (C) Twisting the Yarns
wriresr Hedflevl Qauig denL g
(D) Another name of line
suWipMler @ erGermm CLwm Eb.

17.  Nylon rope is made up of?
eparer Gyl erdléd surflésliuBEng) 2

(A) Italian hemp (B) Manila
@&zmedlwen el wanflem
(C) Sisal \4 (D) Synthetic
Sema Qewuphens BTT G eL&ET

18.  What is the purpose of escape line?
T CaL1 eneaile LILIGH 6Tean ?

(A) To rescue Work
By uanflaeEns@
(B) Lashing branches
fenars GLPTUSMET &L L
(C) To assist fireman to return to open air when entering smoke filled room
\/\ Lans GBS @Lsdd 2 aCar Qeucu Bam@w &npstaiaflse &mbu 2 geu
(D) Hauling and Lowering the equipments
Qewphsmalaamer CGulGa eghHm LHMID QnéEs
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19.

20.

21.

22.

What is the length of short line?

el evevafler Herld ereimer ?

(A) 15 to 20 feet (B) 20 to 40 feet
15 - 20 =iq 20 - 40 <=yiq

(C) 50 feet (D) 9to 12 feet
50 =g 9-12 =g

What is the running end?
Jeselihl GTGITL GTEILIg, GTEHen ?
(A) A line which is made fast
sl sl LUl (HeTer @b
(B)  Free end of line
sWlpdler saflsg el Ll L UGS
(C) Binding of the end of rope
sWpdler (paranuieear &L lg 61&5s6H
(D) Binding together two or more lines
Qe eperm sulmismer @aTDTS &L(Heugl

Which foam concentrate form thin transparent film over the fuel surface?

s euemsLTar BT somae arflun Qurpeler Goed Gddlu LLOS®S o (HeauTEED
(A) FFFP (B) Portion

(C) Synthetic \/) (D) AFFF

What factors determine the expansion of the foam?
meyer alflcursasms Hiamrudsen SyenilaeT ?
(A) Type of foam concentrate
B Tuller euams
(B) Design of foam making branch pipe
BerElamar 2 (heurd@b Smeré@&pT aums
(C) Operating pressure
SN (PSS
D) (A), B) and (C)
(A), (B) wpgid (C)
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23. Expansion ratio of medium expansion Foam Concentrate?
Bywid erenésCueevafler meny soameiuder eflfleurss elldlsid eremer?

A) 2:1t020:1 (B) 200:1to2000:1
(C) 5:1t015:1 ‘4 D) 20:1t0200:1

24. What is the nominal flow of FB5x model?
FB5x cuens meny faver g pmuier Qeuaflui() Hperr ereueiara,?

/\ A) 2301Um (B) 5001/m
(C) 4001Vm (D) 150 Vm

25.  What principle is used in the inline inductor?
Inline inductor -é LweTLRHLD SSGIEILD ETETET ?

(A) Bernoulli (B) Venture
QuirGared ' QeuEn@fl

(C) Archimedes (D) Buoyant
<2}, L5161V e LILIMTGTL

26. How long distance shall be maintained from Inline Inductor to foam making branch
pipe?
Foam making fleesgyreaw uwau@sgb Gurg <ign@n Inline inductor-&@ib
creuauere) Qe Geual ugTdfés Ceuar(ib 2

(A) Not more than 100 m (B) Not more than 80 m
100 1§ flsd @eamned 80 1§ =dsid @eemned
(C) Not more than 60 m (D) Not more than 90 m
\/\ 60 5 s @damned 90 § fsd @eemod

27. What are the suitable fire extinguisher class “D” fire?
D aiews $s@né@ QUTHSSLTE SWEnenT iU 61g?

(A) Powdered graphite (B) Soda Ash
Syrsemul e GarLm gmibLed

(C) Dry sand M\ (D) (A), (B) and (C)
2 QMG LOGITE (A), (B) wpmid (C)
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28.  What is known as Purple — K?
Purple — K erésmmed ereiren 2

(A)

(©)

Sodium based powder lA(B) Potassium based powder
Cemguid sbHg SNeT QumLrélwib sobg GreT
Dry chemical powder (D) Sodium bi — carbonate

2 OMHG @ TETWLTSSTET Gemgwib-anu-smiuGer

29. FFFP refers?
FFFP - ef9fleunssid

(A)
B)

WAO
D)

Forming Film Fluoro Protein
Film Forming Foam Protein

Film Forming Fluoro Protein
Floating Foam Foam Protein

30. Which fire extinguisher used to replace Halons?
anrCaersE LHOTE ahs Swemeriumer smell LweTUO&Dng) ?

A)
w\ (C)

DCP (B) ABC
Clean agent (D) AFFF

31. What is meant by “housing” a turntable ladder?
Turntable ladder -& ane el eraLiger eSleTésb cree ?

(A)
B)
©)

D)

Extending the length of ladder
gafller 2 wrsms Fafsse

Reducing the length of ladder
gafller 2 Wrsms G®DSSED

Raising the ladder from the gallows
CasCareialled @) (phg eanfluiiener o wiTégge

Lowering the ladder towards gallows
CaGareaialneE gaflleamear @n&dl Carar®h eumsd
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32. What is meant by “elevating” a turntable ladder?
Turntable ladder -6 erellGeul_iqmi ereLigen elleTésLd eremmen ?

(A) Extending the length of ladder
geanflufer 2 wrsams iHaMsze

(B) Reducing the length of ladder
ganflufler 2 wrsams GmDnSSed

(C) Raising the ladder from the gallow
\A CaGameueiler @(mbg anflulanar 2 wirsg He

(D) Covering the ladder towards gallow
CaCameuatn@ earfllulianar @n&dl Qamearr(® eumhs

33. In Hydraulic platform ‘SWL’ refers?
eanl_jrells sarsdler ‘SWL aflfleumssd ?

(A) Safe Working Ladder (B) Strong Working Load
Cels Qaurigdlm GeoL i eol_ymmi Qeurrédln Ceomf

(C) Strong Working Ladder “\ (D) Safe Working Load
eol_ymi Qeurrédlm Geo Cels Qeuradlm Gaom()

34. How many times carbon dioxide gas as dense as air?
sflwfle eumy sTHen el eTE&SMET DL ki@ L THHwimearng)?

Aa) 25 (B) 3.5

AC) 1.5 (D) 4.2

35.  What is the diameter of the Hose Reel Hose’s nozzle?
Hose Reel Hose-ér epaas@pmuier el b erebre ?

X A(A) 6 mm (B) 12 mm
6 9.8 12 5.8

(C) 9mm (D) 18 mm

9 8.8 18 9.8

36. What will happen, if the strainer is nearer the surface of water?
sl g Hiler Cuhuriibe @ @mbsTed eremar bL&@Gm ?

(A) Water hammer (B) Vortex
eum_L T Gamiof -3 CeurmillL_&ehv

(C) Cavitations (D) Vacuum
Coeill_GLaer QaupdlLb gHuBHd
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37.

38.

39.

40.

What is reason for pump fails to priming?

2 flgre Greow LwearuESSLURDL Curg Yerrik p&sTLD @ EBHUUSDE STIELD

GTGOTGUT ?

(A) Loose or faulty suction joints
gerieumar LOHMD LpsTar B 2 MEhs Gl @ eerrliLseT
(B) Delivery valve not properly closed
QLedleufl eumevey sfluims apLliuLngg
(C) Air leakage in the suction hose
B 2 Mepa Gpmie srhn sfle|
D) (A), (B) and (C)
(A), B) wpmd (C)

When is the cracking jet is created?
ACradlm Qe eriCGung o (peurdlmg) ?

(A) Oil entered into water \4 (B) Foam entered into water
samantiled < uld sa&Eh Gumg samantfley meny so&@EL Gurg
(C) Air entered into water (D) (A), (B) and (C)
seqment(mLer sTHY Hw&EGD Curg (A), B) wpmd (C)

How often deep lift test shall be conducted?
lel) Ui QL@ ereueuena| BsEhdEE @Hpen BLisliuL Geuamhib?

(A) Once in 6 months (B) Once in 3 months
6 wrssdHS @G Y@ 3 IESEHEG RO PD
(C) Every month (D) Once in 2 months
LISD @B (POD 2 wigsdhE RO (PO

What is another name of the hook ladder?
Qarsd) eanfllfer Ceumts QUwIT ereme?

(A) Pole ladder ‘/) (B) Roof ladder
Cuméd. oremfl gaann erenfl
(C) Folding ladder (D) Short ladder
iy LIl erewt] GSnIH W eremfl
11
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41.  After oxygen has passed through tissues, what gas is created?
desseflar G ysellsmer Qedeyd CUrgl eThg Uy e (heurdmg) ?

(A) Carbon monoxide \/‘B) Carbon Dioxide
sriuer CuorGerm ,déamav(h STTLIGT L ,EHm6L(h

(C) Nitrogen (D) Nitrous oxide
&b LT8R 6T @pLIeL &emav(h

42. 0K, is equal to
0 Qaevellerm eremiigy) eT&Mm&E, &b ?
A) -2730C (B) 273°C
(C) 373°C (D) —-373°C

43. What is approximate composition of Carbon Dioxide in the atmospherie air?
auafloarL e srHdleydmer &TTUET L p&EMEV([H HH6T6| GTETeT ?

A) 3% (B) 20.93%
A O 0.03% (D) 3.03%

44. What is approximate composition of Oxygen in the exhaled air?
waflger saurdlgg Qaueui@n srpBler 2 6rer <y sadlgper 6T

A)  21% v\ (B) 16.96%
©) 12% D) 19%

45. In the standard line signal repeated sharp pull from the wearer, what does it

means?
madr Hsaredd afibgdaralLb @;pg CsTUThE @WEGD sbldms asmen
&HLAGSg 2
(A) Tam all right (B) Stop lowering
presr gfluins o erGere dpeuams Hnsse|b
(C) Haul up \/\ (D) Danger help me
CuwGe @p SiuTwgHed 2 erGarer o geua|b
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46. Safety margin refers?
Gslig TTEler erarLg) ersear GN&ESLD 2

(A)

B)

"\ ©)

D)

A period during which the low pressure warning whistle operate
e elefléd =iqé85 < Tbl9&En Crrsams GN&ED

Full duration of BA set

opés smeluler pp Lwerurl () Crréms GG

Duration till the low pressure warning whistle starts to operate
auriefn efeafled iigss < TblldEh ey e arer Ghyb

1/5 of the Cylinder capacity

Qurgs Crrsde gpdd G LGS

47. What shall be Breathing apparatus cylinder minimum content on entry into the risk

area?

QussTar @LEHD apFs smel LLETLESSHD Gurg) Adawr_Mesr sTHM  (GODHSI
ereueueTey @m&s Ceuam(Hib ?

A)

©)

70% of the full capacity (B) 60% of the full capacity

Qurés Carerereraiicr 70% Qurés Gamerereraiicr 60%

50% of the full capacity '/\ (D) Not less than 80% of the full capacity
Qurgs Qamereraraiier 50% Qurés Carereraraildr 80%

48  What factor should be taken into the account at entry control point of BA set?
epds smelew Hapelsdd LwaLRsgb Gurg crenQarenanr SryelEamar SHeuanssdle
Qamerer Gauamr(hib ?

(A)

(©)

Size of the risk area (B) Location of access point
pUSE GLdlen Ly LSS @LEMs SA@MSD LSS
Wind direction /\ D) A), (B) and (C)

sHdler Hens A), (B) wpmibd (C)
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49.  What procedure should be followed on the spot While wearing BA Set?
pdaamaliews Lweatu@R &g Curg Wearupn Geuamgw euflPODSET WTEme ?

(A) Cylinder has not less than 80% of capacity
pée smaluied srhm @iy Qurss Qarererareiled 80% G@MDWITLOO G(HLIY
(B) Must be donned in fresh air
grienwrer sthbled epss smalulamear iamflge
(C) Personal are to work in team of atleast two
Gelanrs Qeudup s Gmnbsg @rar® Gui
A D) (A), (B) and (C)
(4), (B) wpyib (C)

50. What is the length of BA set personal line?
epé&a&amelufer Litagard eneafler Harb erever ?
A 10M ) B) 6M
C) 12M (D) 30M

51. What is the maximum practial lift of water for the fire service pump?
Sumeriy gop ubGmer LwETURSE pEOLPOPUID e  PPSHD BHS
samanteny GG (piguyb?

‘/\ (A) 26 feet (B) 33.1 feet
26 g 33.1 =g

(C) 38 feet (D) 30 feet

38 g 30 ©jig

52. What is the function of a branch and nozzle at the end of a line hose?
Bir @ G (e o drer Saer@pruller Lienfl erear ?

(A)  Velocity energy converted into pressure energy
HensGous Yhpae SiWss bpwrs LIHREDS)
(B) Pressure energy increased
(WSS BHDMD HF&OTESS DS
(C) Pressure energy converted into velocity energy
v SIWss wpp@® HwsGaus gbpors LIHNEDS)
(D) Kinetic energy decreased
Quss OO G@PIDg)
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53.

54.

55.

A\ A)

56.

“\

One cubic meter of water exerts downward force of?
e sar BLLiT ganatller £p Crrédlu elens ereucuera,?

(A) 9800 N

9800 Byl Lebr .
(C) 980N

980 Hluy,Ler

Normal atmosphere pressure 1s?

@uieurer auafba e H(PSSD eTeleU6TE)] ?

(A) 10 bar /\
10 wum

(C) 0.10 bar
0.10 umm

What is the unit of jet reaction?

Qg Awrsegailer e, eremer ?

Newton
Bl L e
(C) Meter

Srer

What is multi stage pump?

Ue Bleney LItbl erebrig)?

(A) A pump having high pressure
9H& (PSS 2 6Tar bl

(B) A pump having more output capacity
2i8s Qeuafluli@Gd Fmer o drer LibL

(C) A Pump having two or more impeller

(B) 9810N

9810 Bl L et

2900 N
2900 By, L e

1.013 bar
1.013 ummr

100 bar
100 wmm

Kg
HCordlymid

Joule
gveb

Qe g SisHadors @bliuert derem( LbL

(D) A pump attached with primer
Qe TLo(HL6T Galqul LILDLI

15
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57. What is the equivalent pressure of 15 m head?
15 1§ Qanl &@ FOWLTAT S(PSSLD TEUAIATE, ?

(A) 150 bar (B) 15 bar
150 wumir 15 umir
(C) 1.5bar (D) 0.15 bar

/‘ 1.5 umr 0.15 umr

58. If the fire fighter suddenly close the nozzle while fire fighting what will happen?
Sueranriy uenll@enr Gurg Swevewrumeri SleGyaim APEGSESPTL (PG EITED  6reven

bL&@HLWD ?

(A) Water stop /‘ (B) Water hammer
gegranti HlH @ aurl_Lit GamLor

(C) Water jet (D) Water flow
euTL_L T Glegi eurl_Lim LGerm

59. What is friction factor of 70 mm dia hose?
70 BB Gamredler [ NM&ever GUELT creueueTa] ?

/\(A) 0.005 (B) 0.007
(C) 0.009 (D) 0.003

60. How do find out the efficiency of pump?
Lb e Hpenar eriitig saT( g Lum?

WP BP

A E=——x10 B 100
A &) pp 100 ®) 5>
100 wP

©) WPx BP D) ———=

x BP 100 x BP

61. What is mezzanine floor?
©)L_LDTlg GTEITLIG 6TETGHT ?
(A) Intermediate floor between the floors
‘/\ serhsaieanL_Gui 2 eTer @enL UL L SeTLD
(B) Coriander of the building
sl LL ger sl
(C) Timber floor
lg LDUIT SETLD
(D) Refugee area
Qruye) gflwm
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62. What are the types of the stone principally used as building materials?
THS EUDSWITET &HaE &L L sHh@& LweTupSs U0 g ?

(A)

(©)

Granite (B) Sand stone
Syrenari_ LDGRTE) &HEET
limestone (D) (A), (B) and (C)

S ERTETTIDL| &6 '/) (A), (B) wpmi> (C)

63. What is the functions of column in the building?
&L LLgHe gramaseler (column) venfl erare?

(A)

(B)
v\

©)

)

Horizontal load bearing member
HenL_oL L o7& eTenL_UIHar STrhi&ge

Vertical load bearing member
Qermi@ssns eTenLudanar &mhi@&sed

It supports both end of the building

Qs sl LLgdHer Qran(h (perers@EnssleL Gu 2 ngmaETuTs 2 6Targ)
(A4), (B) and (C)

(A), (B) wppid (O)

64. What is tread?
QL ereiTLig) eremmen ?

(A)
B)

(©)

\A (D)

Vertical part of step

Uig e Gem@gsrer LG

Width of the step

Uigudler 4seLb

Height between handrails step

Lig&@&b Cane Qriids@h @l Cdgrmaa]
Horizontal part of the step

LiguQer LS [ LGS

65. What is the maximum height of the riser for residential building as per NBC?
NBC-éir Uiy GLui@mly sl Lks@sé@ drievher Sifauigurear 2 wib ereer ?

(A)

©

150 mm (B) 190 mm
150 85 \4 190 A5
200 mm (D) 120 mm
200 188 120 S8
17 029/DM/23
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66. What is the width of Exit to be provided for Educational building as per NBC?
NBC-air Lig a6l Hipeuiarms@pssE GeualGumid euflseaier oigeb ererer ?

A 10m B) 12m

1.0 8 1.2.8
C 15m (D) 0.75m

N\ 1.5 8 0.75 18

67. Asper NBC — 2005, Part IV circus tents classified as?
NBC -6 g &iés60 saL My ehg euens &L LTS euasliLbhSsuUbGEDng ?
A) D4 (B) D6

68. To MSB construction, width of the abutting road should be?
2 WIMDMG &L L LD &L L emi@ FTeneudlen &b ereuceTe] @) (hés Geuer(ib ?

\/\ (A) Notless than 12 m (B) Not less than 10 m
12 15 &@ @epwimoed 10 15 & @epwmoe
(C) Not less than 9 m (D) Not less than 8 m
915 &@ @epwmod 8 8 & @epwTned

69. What is the occupant load to educational building?
sevall fimeuar sl L gdler &@6uer. G ererer?

(A) 12.5 m2 / person \/\ (B) 4 m2 / person
12.5 12 | person 4 182 | person

(C) 0.6 m2 / person (D) 10 m?2 / person
0.6 52 / person 10 52 / person

70.  What is the Evacuation time of type 2 construction building in emergency period?
QYussTan sromsaid - 2 cuans sl L L Gdlar CeuaflCupmid Gy ererer ?

(A) 1.5 min B) 2.5 min

“\ 1.5 HiflLid 2.5 AL
(C)  1min (D) 2 min
1 S8l ib 2 BBl b
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71.

72.

73.

4.

What is the internal dia of the down comer?
Lajar &b senwnler gpmuier 2 1 L@duller @niésere, eremer?

(A) Not less than 120 mm (B) Not less than 110 mm
120 A8 &@& GepWTDe 110 A8 &@& @emwimoed

(C) Not less than 100 mm (D) Not less than 125 mm
100 08 &@ @appuIToed 125 08 &@ @epwimoed

ESFR — stands for?

ESFR - ergaman @flé&dmg) 2

(A) Early Suppression Fast Response
el sligager Limavl Gyevuimeren

(B) Early Sprinkler First Response
omed evl@fmer el Grevumesen

(C) Early Suppression First Response
giied glipager Levl GrevLimerey

(D) Early Sprinkler Fast Response
el evAfmer umevl @yevumeren

At what temperature blue Colour glass bulb type sprinkler heads designed to
operate?
Bo sonoLw §i Osafuuraldar gmeolugd aps Qaiu flowuild QunEh amsuid

GUIg UG D&SELILIL (H6ETETg) ?

A) 570C (B) 68°C
(C) 1820C v O) 141°C

Which type of fixed installation protects the building from damage by Exposure to a
fire in adjacent premises?
sl g Lnsoer Qasallliyps § SumusHBHa LTESTESD § UTHSTUL AU 68l ?

(A) sprinklers \4 (B) Drenchers
evl@fimieorm L Qyetrepaien
(C) fire Extinguishers (D) Water spray projectors
SuienanTUILITETS T aurl_L it qulGIGy yGyrllenssLmiev
19 029/DM/23
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75.  What is the testing voltage of rubber gloves?
guuT evswepew Gersamer Qg Comdl erdsamer?

(A) 40000 volts (B) 8000 volts
\/\ (C) 15000 volts (D) 30000 volts

76. MCP stand for?
MCP - eranugern ellfleumssib erese ?

(A) Manual Call Post (B) Multi Call Point
Cueayeud smed GumevL el ST Lmullegr
(C) Manual Call Point (D) Master Control Point
v\ Cuoeyeued &med Limublarr revL T serl_Grmed Limullesri

77 Which is the follow detector sometime give false alarm due to high sensitivity in the
early stages of fire when smoke particles or small?
s euas Lad sar® Sguumer Sle Crraseiey Qumiwmer pepuiler Heraient
<ids o auit Hpsdarme @allsSng?

‘/\(A) Ionization detector (B) Optical detector
' swGarmdler Liams UG &H®D 1gQL &L T
(C) Heat detector (D) Radiation detector
abl g QLT Grig Cwiger 1gQL&Lmir

78.  Which knot is used to identify of the burst or damaged delivery hose?
Qeug i) gHULL HmID LWL bS Bt 1OEGRTEW D@L WITETLD STemL Cumiu@b

(Plg &8 ?
\/\ (A) Thumb knot (B) Reef knot
&b BT o B
(C)  Chair knot (D) Figure of eight knot
Cerm B Q& L1 eruldl B
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79.

What does “PASS” mean?
PASS eremrLigen GQuimmer?

/\(A) Pull, Aim, Squeeze, Sweep

80.

81.

82.

BWss®, Bosms CrTEES®, BHEGSD, CLIBHEGS
(B) Push, Attack, Stop, Sweep

BETEHED, BTEGHD, HNSH®, CUGSGSD
(C) Pull, Attack, Stop, Sweep

BWpssw, TEEEHD, Hnds®d, dUBSEES®
(D) Pull, Aim, Attack, Stop

Qusse, @asms Cpra@sd, sT6Es. Hpssd

Which one of the following is affect Ultra — violet detector?
Leargstad i Las sarBidgliuteer LUTé@h sTral&sar Spasa_eubbled erg)?

(A) Sun light (B) artifical light
G&Mw eafl Qewpens eafl
(C) Welding arc (D) (A), (B) and (C)
Qeuedigm p,Té (A), (B) wpmid (C)
What is ATC?
ATC eremmmed erewme ?
(A)  Air Traffic Control (B) Air Transport Control
Mwrer Cums@eursg s-HiLuumb dwrer CuUTE@Geaursg ewwLd
(C) Aircraft Transport categories (D) Aviation transport centre
Mwrer Curé@eursg Gfeyser NamrGeiefl CuTEGETSS eOLDWID
What is Pitch?

Pitch erermmed erewmen ?

(A) Distance between two wings of Aircraft

Awrarsder @)® BDGSERsEE Qe Guuirer g
(B) Distance between two fuel tank of Aircraft

Awrargder @ran® erM@umrper Calliy QUL &EhEE @en_Cuwimer gy
(C) Distance between corresponding points of adjacent seats

<10&50586 QL misaller CgTLLjenL ul LieTafl &6

(D) Distance between head and tail of Aircraft
ewrarsHer sema LHDID eITed LEGHsE5EESE QoL Guwrer gy

21 029/DM/23
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83.  Escape slider or chutes normally provided in which part of Aircraft
Mwrargde Quigeurs erhs LiGHuld Escape slider or chutes Qurpgsiu g (mé@hd

(A) Pilot cabin \/\(B) At doors and emergency exits

cllmer 6L igudler jewmriu@guldled &56&6T LHMID Djeusy auflliLiGSsafle
(C) Wings (D) Windows

@m&Hensser &S| &HelT

84. A fire existing bulkhead, usually between an engine and the remainder of the
fuselage or wing of the Aircraft called as?
alwrargdear @eamsenr SLiLpmibd Hlavauler Siger wHn UGHsermear erflummer Caliiy
Quily  wLHMD  Gpémssd  Q@easErsE Qe Cuwrear  uEd e

Sp&sliLHE DG ?
(A) Flap (B) Fin
LLOLEGS ES[CINE:To)
(C) Fire wall (D) None of the above
/\ $550H\IY Feul @ aeusaileh ergia|dlerena

85. LASH ships stands for
LASH stiuéser ererug)

(A) Lighter aboard ship (B) Long range aboard ship
’\ slLOselld @e@eurar &Ll sLLalled HerrL gryid
(C) Loaded aboard ship (D) Long range advanced ship
sl erHmLILIL L g Besr gy peiernuinmésiul L SULID

86. SOLAS means
SOLAS -éir efler&aibd

,‘ (A) Safety of life at sea
sLsefler aumpeughamer LTg&STUL
(B) Ship and ocean line Authority system
sLL6 LHOID sLceufl QemarTul e
(C) Safety of life in air system
aunen@euafisaiicy aumpeugHaTar el

(D) Ship and ocean line at sea
sLesafled 1L WHMID SLceudlaeT
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87. In mechanical refrigeration the refrigerant is “Freon” as
Bupdr el L ppopie Geltusalurs ueau@ssuuEL “Freon” aearg

\A (A) Non toxic and Non flammable

claggsamaowpngl, SLUHDTSS)

(B) Non toxic and flammable
Negggereoujawg, erfluissniqug)

(C) Toxic and Non flammable
NagsseranpujeL g, SUUDDTESS

(D) Toxic and flammable
Nagsseman e igl, 6Tiluésniyuig)

88. The Radioactive materials is unit measured by
Crig Cuir sdireSss saflomser Spsan. serasellenr verelLiLEEDS.

(A) Curie (B) RAD

‘A &yl 7.6 1g..
(C) Roentgen (D) Gamma particles
TITGHTL_ gD &b SO &S TEHET

89.  Which one of the following is not a industrial accidents?
Qereupeuareupmicd org QsmifpsTere eflugg B ?

(A) Nuclear reactors accidents (B) Thermal power stations accidents
Siam 2 e elusSg Sjared Wer Hlaneww allugg)
(C) Road accidents (D) Chemical plant leakages
v\ sTene fugg) Quesrwuer Yo elusg)

90. Which one of the following is not effect of earthquake
SpsarL e og HopOsssddar almenay

(A) Land slides w”) B Cyclone
Yol SABéE spHé &oresaf]
(C) Tsunami (D) tremors
< PGUTee ALY
23 029/DM/23
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91.  Which decade is declared as international decade for natural disaster reduction
Qupes Cuifla) G@DLIL RS Thg %e@TH SideilssliLlL g ?

(A)

©)

1970’s (B) 1980’s
1970-gaflev 1980-saflév
1990’s (D) 2000’s
1990-saflé 2000-saeflé

92. What is GIS?

GIS erenrmmed eréimen ?

(A)

(©)

Geographical Information system /‘B) Geographical Initimation System
Heuwé gsHeued (penm Lefludwied ey wpenm

Geological Information System (D) Geographical Initiative System
LoeiTEnt W6 SEH6UE DjenLoliL] LeSludwied < ribLl el (Penm

93.  Which one of the following is not a casual phenomena Tsunami
Qermaumeuarelpmied 6rg < PLICLTema Hlapeilar Curg Ggmtdansg

(A)
B)
©)

D)

Fault movement on sea floor
&L 6 L LFHD gHU@D DTHISQTE H&T6

A landslides occuring under water

geqment e =igliLgbed Hleossfle wrbold

voleanic activity either underwater as near the shore

sLaar 2iqlIL@ES wHmID SLHs®] ABHD 2 arer erilweauiiar EHmib

Cyclone’s in the sea surface
s urtifer Cuerer &pmeuefl

94. What is the major impact of disaster?
CuiLfer p&flu srésd ererer?

(A)

©)

029/DM/23

Political destabilization lﬂ (B) Loss of resources

S7flwed aursserenoulereno eueTEIGaT 6T @LUiL

Change in climatical conditions (D) Emergency of new leader

L(heublena WTHMmISGET QpB(m&sy Hevewuder LHw semeaeui
24



95.  Which one of the following is smoke detector?
Qemeupuemeuseaildy 6Tg Lens gesr(H)Ylig1umer?

(A) Radiation (B) Heat
&8 eiFer Qauliuid
(C) Ionization (D) All the above
/\ Sjuaiwunésbd B a6y SmaTSEID

96. A detector which gives one of two output states relating to either normal or fire
alarm, conditions
& essfsms gefluumafle Q@ eaosurer  Qesefluur@emer Qs erer
sar (L9 LILTETSeT 6Tg) ?

(A) Analogue detector (B) Multi stage detector
SXTOME g 6L GL T Udeuams Hlane ser(H g LiLimer
(C) Two stage detector (D) None of the above
/\ @) wHlened ser(p 9ig.L1LImes eTgIeYD @eena

97.  Which type of detector is effective in aircraft hangers and museums?
edrar CanmsTsed LHND SBHEST ALsSHD Thg s e[ g Lume LwaEergns
QGG

/\ (A) Beam detectors
S 14 QL &L TaeT
(B) Compressed gas type detectors
SHEGSUILILL GUITL| UaNS &er([H)Siq LI TETE 6T
(C) Insulation type detectors
STUILEIME &6 ([ 9ig LILITerseT
(D) Resistivity type
Ty euana ser(H g Liumesr

98. Usual length of shortline is?
srl_anever sulpher grmafl Berid ereve ?

(A) 50 Meters (B) 30 Meters
50 S 30 B
(C) 15 Meters (D) 6 Meters
“\ 15 Se it 6 SULir
25 029/DM/23
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99.  Purpose of ventilation is
srHCHTLib ghuBSgeuser Crréshd ererar ?
(A) To reduces fire spread
& Gugib LFeumDed @) (H&s
(B) To reduces smoke logging
Lens apl L sSlenar Gammés
(C)  To enables fire fighters to enter a building
& lugg sl gL sHD@GeT Swaeentii aIFiseT HePeUSHEHTES
(D) All the above
AN Qe iemerdHgiD

100. Which one of the following is called Sewer gases?
et (HeuaTeuHmIET 6Tg a&euiT euTL| 6Ter S@P&ESIL(H UG ?

(A) Ammonia \4 (B) Hydrogen sulphide
G omesflwim AN LT FevenL(H
(C)  Fluorine (D) Methane
oL Gerrmil e 5&Ca e
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